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’Q Introduction to Functions Reading Graphs
i W/
5 When asked to find a value on a graph, and show work — use a highlighter.

Ex: Find f(2) on the graph below.

When asked to find f(2) you must find when x = 2, and show that at that pointy = "\'
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Ex 2: What is x when f(x) = -3 on the graph below?

When asked to find the value of x when y = -3, show that x= — \\
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Ex 3: Find f(2).
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Reading a Step Function Graph

.’ -You read-it the same way you read regular graphs
-you choose the solid dot over the open dot C t é
* ; .._’_0( ['g ¥l \Mé/b

ke ey e T DR
Ex: When x = 2, what is the value of y? \"}}- A 3 K.‘«‘M&(\

5 -~

1

: L
_’f«s-‘ifizi" ;?ch: QR C WA é

HEEZ fn=-7

54 [

£(2:9)775

Ex2: Find f(4). % kq)w ~= Z
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Ex 3: When x = 6.5, what is the value of y?
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When you are given the value of y and asked to find x, you need to give your answer in an .
interval notation.. C@

Ex: When y = 1, find the values for x.
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Ex 2: When y = 0, what are the values for x?
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Ex3: Wheny=-4, findx. .
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Step Function

.’ -A function which increases or decreases by a fixed amount according to certain increments

-The graph looks like a series of 'steps'

Ex 1: For every $50 that you spend at a grocery store, you get one item for free.

Increments of 50 Increases by 1 iteﬁ.
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Ex 2: A parking garage is free for the first 30 minutes. Then you pay $3 per 30 minutes after that.

Increment="4()  Increase = '5 $ 7
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(-’09\ Graphing the step function:
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. a)How much would it cost for 2 hours?

. L,.)lf you paid $15, how long were you parked in the garage?
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Ex 3: An electrician charges $20 to come to your home for the first hour, then $30 for every subsequent

hour or part.of an hour. @

Complete the table:
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How much will the electrician charge for an hour and a half?

How long did he work if it cost you $807
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A downtown Montréal parking lot is open 10 hours a day. The following graph
shows the amount it costs, in dollars, to park a car on this lot in relation to the time,
in hours, it remains. parked there.
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/11' Consider the following four statements.
. To park a.car.on this lot for 30 minutes; it costs $2.. F’
Il. To park a car on this lot for 1 hour and 1 minute, it costs $6.
" Il. To park a car on this lot for 3 hours, it costs $8.
IV. To park a car on this lot for 8 hours and 15 minutes, it costs $9. ""
. 1] )

¢ Whichof these.statements are-true?
A) landIV only C) lland Il only

B) | llland IV only : II and IV only
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The following graph shows the cost of a day ticket to an amusement park
according to a person'’s age.:
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- Helen and Dennis will spend a déy at this park with their two children. Helen,
Dennis and their children are 52, 55, 15 and 20 years of age, respectively..
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